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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 69
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 69
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 69
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 70
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 70
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 70
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 71
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 71
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Final check for high velocity flow effects: -
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 71
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 72
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 72
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 72

1.27E-01 ! ‘ f . : | o)
e |
; 1.22E-01 | 2
3 ‘ A(P9)/Q = 3E-05Q + 0.0918
| 2 _
| 1 17E-01 1 R =0.1507
£ 1.12E-01 |
£ o]
> b | , _
= ‘
L 1.07E-01 4 5
3 ¥ |
- S |
2 8 1.02E-01 :
'Z‘ ] , i ! ;
3 | f * I S S I | |
o 9TOE024 | | | _
3 | | | | | t | |
920E-02 |  — B —; T _; B -
| i ’ | 1 | ;
f i ; ? . ! f
8.70E-02 | N ; 1 ~
[ | I [
8.20E-02 L , ? : | o) - , . , ,
150 200 250 300 350 400 450 500 550 600 650 700 750
Q, cc/min

| o D(P2)/Q —Linear (D(P2)/Q) |

601



‘:ﬂ/ﬂl 1o ‘UN»

Sl w\‘ o WNR

Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 73

55

50 {

i : , :
| | | | | |
1 | i ! | i | I | | |
{ | { ) | ! | ]

A(P2) = 0.0001Q%- 0.0194Q + 15.398|

- RZ = 1
A(P2) = 2E-05Q2 + 0.0551 i |
- R?=0.9721 A(P2) = 0.0707Q

: t— 1 !
i | ‘ ,

—A(P2)=0.0733Q-1.4871 |

. R%*’=0.9578

2
— R®=0.9593
|
| | ;
50 100 150 200 250 300 350 400 450 500 550 600 650 700
Q, cc/min

| O D(P2) =—Poly. (D(P2)) =—Poly. (D(P2)) = Linear (D(P2)) — Linear (D(P2)) |

T T T —
L - - - | | | ! . | |
og-Log plot o,:.dlfferentl_al pressures squared vs. flowrate--used to identify the presence of

igh-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 73
1.82
: .,
. 10g10(A(P?)) = 0.940710g,,(Q) - 0.9981 o
, : |
R*=0.9615
1.62 -
‘S_: 1.52
3
% ;
m i
o 1.42
1324
o | | ? i
: .f | |
1.12 ; ‘ f — |
2.30 2.35 2.40 2.45 2 ISO l l ‘ r I I o
. . 2.55 2.60 2.65 2.70 2.75 2
. . .80 238
log o(Q) 5 2.90
| O 10g(D(P2)) =——Linear (log(D(P2))) |
| » I | | | |
oy S B S | 1 1§ B |
SEEEEEERER EEEERE |
!:zi!lllf"éi‘Ji'if';“'

750

LLL



Final check for high velocity flow effects:
High velocity flow effects are present when the slope is hon-zero and positive.
D Transect : Drillhole 73
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 74
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 74
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.
i D Transect : Drillhole 74
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 75
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 75
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 76
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 76
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 77
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Log-Log plot of_differenti.al pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 77
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; Relationship between steady-state differential pressures squared and flowrate:
: If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 78
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 78

2.00

1 ‘ ’ ‘ f j ’ j f
2\ _ | |
190 log+o(A(P?)) = 0.94110940(Q) - 0.781] ;,
. | B 1 i
R? = 0.906
1.80 ~———' L - | | '
170 4 =
T e=u—.
150 +—
140 1 ~
1.30 | | i i | : . : : X .80 e
2.25 2.30 2.35 2.40 245 2.50 255 2.60 2.65 2.70 275 . .
log+4(Q)

| O log(D(P2)) =Linear (log(D(P2))) |

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 78
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 79
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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. . Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 79

9.9E-02
o , — |
9402 A(P?)/Q = -3E-06Q + 0.0859
: 2 _
| R*=0.002 O
| f [
_ 8.9E-02 - ! |
< |
=
E .
O 8.4E-02 | :
= |
0 3
I |
2 79E-02 - -
e] | | “'
’\\ | | 1
N | { J
o | i i l |
I 74E-02 . (R S S N S
[ IR TR Nt B By i
! E i '
| 1 ! {
6.9E-02 | |
64E‘02 T T T T T | O
150 200 250 300 350 400 450 500 550 600 65'0 760 75;0
Q, cc/min

A(P?), psia®

| O D(P2)/Q ==Linear (D(P2)/Q) |

Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 80
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 80
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 80

1 1.15E-01
! : ‘ 1 ' ' . o
f ‘ 2 _ | |
110801 | L A(PH/Q —22E-O5Q + 0.0867 [ | ,
: R*=0.114
- 1.05E-01 - — S ER— —
| _ & | | |
> £
= 1 E 1.00e-01 |-
S | %)
- | o
= "o 950802
A=) | [72]
Lo o ; ' | * | , |
} Q o00E02{ S S — . SOV S—
'y | | | | |
< g50e-02 | i I 1 — — Sane
| | i ! [ [ :
| 8.00E-02 4 ‘ - : I NS 4 . ‘ i | |
R
7 50E-02 | | | o I | J | | | |
200 250 300 350 400 450 500 550 600 650 700 750 800
; Q, cc/min
5
| | O D(P2)/Q =—=Linear (D(P2)/Q) |
i | | | ] 1 i | R
S5 I T T O OO O O O -
I i e




QO]"nlm 'Oy

| %) 10 W)

logso(A(P?)

Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 81
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 81
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 81

8.5E-02
o 2
R? = 0.0086

7.5E-02

7.0E-02 1

6.5E-02 -

6.0E-02 -

5.5E-02 : . . 1 . C.) . . . :

150. 200 250 300 350 400 450 500 550 600 650 700
Q, cc/min
| O D(P2)/Q =—Linear (D(P2)/Q) |

55

Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 82
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 82
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 82
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 83
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 83
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 83
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Relationship between steady-state differential pressures squared and flowrate:
~ If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 84
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 84

2.00
@)
1.90 4
2 ] 000(APY) = 0.0425l0g:(Q) - 0.7586
. = R* = 0.9022
R
= &
3 S 170
>
k<)
1.60 1 :
1.50 -
@)
1.40 — _ | | | i | | | | | |
2.25 2.30 2.35 2.40 2.45 2.50 2.55 2.60 2.65 2.70 2.75 2.80 2.85

l0g10(Q)

| O log(D(P2)) = Linear (log(D(P2))) |

. . Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 84
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 85
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Log-Log plot of_differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 85
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 86
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 86
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is hon-zero and positive.
D Transect : Drillhole 86
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,

_ there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 87
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 87
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 88
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Log-Log plot of.dif'ferenti_al pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 88
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 88
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 89
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 89
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 90
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Log-Log plot of differential pressures squared vs. flowra.te--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 90
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 90
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 91
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| Log-Log plot of'differential pressures squared vs. flowrate--used to identify the presence of
| high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non
D Transect : Drillhole 91

-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 92
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of ‘;
“high-velocity flow effects (when the slope is greater than unity) é
D Transect: Drillhole 92 ’
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 92
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 93
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 93
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 93
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 94
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Log-Log plot of differential pressures squared vs. flowrate--used to identif_y the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 94
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 94
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 95
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.

D Transect : Drillhole 95
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 96
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 96
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 96
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A(Pz), psia2
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 97
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 97
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 98
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 98
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 98
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Relationship between steady-state differential pressures squared and flowrate:

If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 99
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; Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
! high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 99
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 99
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 100
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

1.0

high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 100
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 100
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 101
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 101
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Final check for high velocity flow effects: 3
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 101
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
D Transect: Drillhole 102
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
D Transect: Drillhole 102
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
D Transect : Drillhole 102
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